
 

 Тема: Тригонометрические функции числового аргумента     

          Тест 1                                                                     Алгебра 10                                                                   

Вариант 1 

№ Задания 

    
1. 

 

Известно, что 
2

sin ,  
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t t


   . Найдите: cos , ,  t tgt ctgt . 

 

 
2. 

 

Известно, что 
7 3

,  
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tgt t


   . Найдите: sin , cos , t t ctgt . 

 

 
3. 

 

Упростите выражение: а) 
2

2

4 4cos

2sin

t

t


;   б)  2 21 cos 1t ctg t  .  

 

 
4. 

 

Докажите, что 
2cos

sin
1 sin

t
tgt ctgt t

t
  


 . 

 

 
5. 

 

Постройте график функции 2 21 siny ctg x x   . 

 

 


